_3rd ____  .    Quarterly report for    INTC    .


Date:
10/15/15
Percentage change in Sales from year ago quarter  -0,6  %    . Flat Q/Q but sequentially, up 10%. PC & notebook sales down Y/Y, but Q/Q up 9%. PC market appears to be stabilizing, helped by release of 6th generation core processor, Skylake and reduction of subsidies for Bay Trail processors sold into tablets. Other segments (Data Center, Internet of Things, & Memory) grew 10%+ YOY. Data Center Group had sales at record high ($4.1 B) as result of cloud spending. DCG are  largely run with Intel server chips.
Percentage change in Earnings per Share from year ago quarter     - 2.9 &    . The integration of Altera resulted this quarter in a restructuring charge of over $25 million.  This acquisition will start adding to the revenue of Intel next year. Intel is also partnering with companies in Asia improving competitiveness in the mobile device market.
Is company meeting our target sales & earnings estimates? Not this quarter but long-term the expectations are yes.
Pre-tax Profit on sales trend?   (up, even, down) Even - 28.5 %
Return on equity trends?  (up, even, down) Even - 19.9 %
Debt?  (up, even, down) Up slightly because of acquisition of Altera.
Current PE  is 14
 Where does it fall in my estimated High/low range of PE's?  Upper half
Signature PE = 15.2
Club cost basis for this stock is   $21.45                Current price is $32.80
      (from latest valuation)

Current fair value:  Morningstar:  $31.00        S&P  $35.20
My SSG Total Return is           ._Projected Average Return is       .
What will drive future growth: They continue to shift to focus to  mobile devices and away from the mature PC market.  ARM Holdings (ARMHF) has replaced Advanced Micro Devices as INTC's chief rival. Intel has been shifting from approach of offering high-performance, power-hungry processors low-power consuming designs that inhabit most smartphones and tablets. Intel's Atom processor, running on its Silvermont architecture 22-nanometer platform, has bridged that gap to become comparable in power efficiency relative to ARM offerings. 

As cloud computing continues to grow, Intel's server processor business will be an indirect beneficiary. With the growth of tablets,  performing computing tasks and accessing data via cloud infrastructures, server buildouts  are needed providing tailwinds for Intel's lucrative server processor business.

 Intel’s wide moat results from its superior cost advantages realized in the design and manufacturing of its cutting-edge microprocessors. This in-house capability supports a streamlined supply chain, shorter time to market, and the ability to scale promising products more rapidly. Semiconductor manufacturing is inherently capital-intensive thus requires methodical planning and execution to keep the cost per chip at a reasonable level. Intel accomplishes this through investments in the latest process equipment technologies. However, in order for the economics of the business to be pragmatic, there needs to be strong demand via differentiated products that can be sold at high margins, which Intel achieves with its massive research and development budget that averaged $10.7 billion annually from 2012 to 2014. Competitors can't begin to simulate this kind of R&D.
Recommend: Buy More ____, Hold    X       . Challenge with a better investment______, Sell___
